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National 5 Biology 									  (Model Paper 3, Qus 1 & 5)	
S4 Revision Homework 2                                                
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SECTION 2 — 60 marks
Attempt ALL questions

(a) Cells from onion tissue were examined under a microscope and then
placed in a concentrated sugar solution for 30 minutes.

The diagrams below show a cell from the onion before and after being
placed in the solution.

N
7

before after

(i) Movement of water caused the change in the appearance of the
cell.

Name the process responsible for the movement of water. 1

(ii) In terms of water concentration, explain how water movements
account for the appearance of the cell after being placed in the
solution. 1

(b) Name one substance, other than water, which must be able to pass into
or out of a cell and explain the importance of the substance to the cell.

Substance 1
Importance 1
(c) Give one difference between active transport and passive transport. 1

- Total marks 5
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The diagram below shows part of an investigation into the effect of adding
two different concentrations of ATP solution to two pieces of muscle tissue.

ATP
solution

syringe

muscle tissue

scale

e =
= Ascude

The results of the investigation are given in the table below.

Concentration of Length of muscle tissue (mm)

Muscle ATP solution
tissue added Athstatt After 5 | Decrease
(%) minutes | in length

Percentage
decrease
(%)

0.5 48 45.6 2.4 5

1.0 45 40.5 4.5

(@) (i) Calculate the percentage decrease in length of muscle tissue 2.
Space for calculation.

%

(ii) Give a conclusion that can be drawn from the results.

(iif) Explain why it is necessary to express the results as a percentage
decrease when comparing the results obtained.
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(b) Explain why different syringes should be used to add the ATP solutions in
this investigation. 1

(c) The list below contains some features of respiration in germinating peas.

List

W Does not require oxygen

Releases CO,

X
X ’Produces 38 molecules of ATP per glucose molecule
Z

Produces ethanol

Complete the table below by entering the letters from the list in the
correct box to match the features with the type of respiration occurring. 2

Each letter may be used once or more than once.

Aerobic respiration in Fermentation in
germinating peas germinating peas

Total marks 6
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